Day 2 Notes - Interval Notation, Trig, Factoring, and Solving

I INTERVAL NOTATION

Interval Notation is a more “grown-up” and convenient way to write inequalities (as opposed to set-builder notation).

In interval notation, always list the smallest number first, then the largest.
Enclose the numbers with () if “not equal to” and [ ] if “equal to”.
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? 1. Solve the triangle ABC, given that A=35°and ¢ = 15.67. 2. While on a walk, Josette sees the WRAL
" -0 traffic helicopter flying over the beltline located
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3. Youdecide that you NEED to know the he ate’s bell tower, so you go outside on a sunny day and
measure the shadow of the bell tower to be 50 feet long and the angle of elevation to the sun is 53°. What is the height

of the bell tower?
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FACTORING:
HLodPNINeS GLF, Yen &P Ly WP RZoHoms Upt
g X +5x+6 5. 3x?-18x+24 6. 2x2+5x—1 e7. 3x2+2x-16

2 (K E=(ox+T) (x_u,\(x + %)
m 2 (=L)X~ 1) n hei 1

O of 3g- AWF. of g - GF G F, hen 0. 0¥,
8. x2-25 29. x*-16 10. 4x3+ 100x2 11. 16x%y - 36y

(% +3)(X —’5\5 @O A X2 (x=2)

Syrih. Qive (Ust M«-zaﬂ Thm) L Ot of by CavdupIvg
12.6-1 PoSS. Rooks - T | B X6 .,1(4 )_(3+2x 3x+i Lo\
N = el 2 Y X3~ 3 X)X —

,:u\ooooo-\ .
<A §.o=3 § =% 1 Ty =" oo [P o o
\ \\«\\—'\\‘/y’\j\-—\\——\\-\ g@(x;ﬂ
i (alF

® - XF )3 oy oy =\ v y o+ o
Iv.  SOLVING: T\ DX 1 0x OV COranaln v
4@ orkors AF oxE D N (=) VAT
Solve byfactonng U\F Solve by Quadratic Formula Solve for the exact answer by completing the square:
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Solve using synthetic division:
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Day 2 Homework

For #1, find all the sides and angles.

1. 9 2. While flying an airplane, Fred sees a Iandinko

strip ahead of him at an angle of depression of
53°, If his altitude is 1200 ft, how far is the
airplane from the landing strip?
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3. \/\ A dead tree is struck by lightning causing it to fall over at a point 10 feet up from the b the
o 4 : tree. If the fallen treetop forms a@'wnh the ground, about how tall was the tre originally?
O
0+ 150 = (25,6 £t
Factor the following completely: _ Solve by factoring:
4. 1442 - 16 5 x*+x*+4x+4 6. 8x*+27 7. 2x* +13x* -45x =0
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Solve by Quadratic Formula: Solve by completing the square: Solve by using synthetic division:
8. —5x*—19x=11.5 9. x2 +10x-19=0 10. X3 +3x2 - 16x—-6 =0
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Express in interval notation:
11. {x| x>9} 12. {x]-2sxs21} 13. {x| x< 6}
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